Physics 481                                                                                          Winter 2012
Homework #5
(due Wednesday, January 25, 2012)

1. Reading assignment: Hecht Chapters 9.1-9.3.
2.  (15 pts) Calculate  <cos(k1r-t+1)cos(k2r-t+2)>T, where 1 and 2 are time-independent initial phases and the time-averaging (from t-T/2 to t+T/2) is done over the time interval T>>, where  is the temporal period (=2/). 
Postponed due Friday, January 27:

3. (15 pts) Hecht 9.3

4. (10 pts) Hecht 9.6

